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Dit is een gesloten boek tentamen.

Tijdens het tentamen mogen geen schriftelijke of elektronische artikelen worden
geraadpleegd.

De antwoorden kunnen in het Nederlands of Engels gegeven worden.
Er zijn 5 tentamenvragen, Q1..Q5 en de som ervan is maximaal 90p.
Het tentamencijfer wordt berekend als: (Q1+Q2+...Q5+10)/100

Het eindcijfer wordt berekend als 0.4*practicum + 0.6*tentamen.

Beide onderdelen moeten >= 5.5 zijn voor een voldoende.

Q1 Q2 Q3 Q4 Q5 Yoi | Maximum =

(XQi+10) /10
a) 5 5 5 10 10
b) 10 10 10 5 5
c) 5 5
d) 5
e)

Totaal 15 15 25 15 20 90 10

SUCCES!



Q1.Ubiquitous computing vision. DEI model. [15p]

- a) [5p] Enumerate the 5 core Ubicom system properties according to the DEI model..
b) [10p] Describe an ubicom system with at least 2 of the properties from a) that can enhance

the public transport scenario.

Q2. Smart devices and services [15p]

a) [Sp] Enumerate the primary tasks of a smart card operating system
b) [10p]. There are different service architecture models possible depending on how the

A (access), P (processing), C (communication) and I (information) components are
distributed. Describe shortly 2 possible models, show in both cases how are the A,P,C

and I components distributed and give for both a real life example.

Q3. Tagging & sensing [25p]

5p] Compare passive and active RFID.

a) [

b) [10p]What is a smart sensor? Draw a diagram and explain the role of each component.
~¢) [5p] Explain how does Time of Arrival (ToA) method work.
_d) [5p] What is a hard real-time system? Give an example.

Q4. Intelligent systems [15p]

~a) [10p] Draw a diagram of a reactive intelligent system (R-IS) and explain how it works.
~b) [5p] Give an example of a R-IS.

Q5. Communication.[20p]

~ a) [10p] What is a parity bit? Show how this works for example for uneven parity when the
string “Test” is typed on the keyboard. ASCII table is provided.
~b) [5p] What is data rate? Calculate the data rate of a 2MHz square wave signal.
< ¢) [5p] What is a body area network? Give an example and draw a diagram.
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